Higher
	Use the Grid method to answer these questions

	Activity 1
	Activity 2 

	A. 120 x 15 = 1800
B. 221 x 24 = 5304
C. 88 x 353 = 31064
D. 741 x 16 = 11856
E. 512 x 84 = 43008
F. 81 x 170 = 13770
G. 126 x 52 =  6552
H. 33 x 136 = 4488
I. 192 x 77 = 14784
J. 582 x 67 = 38994
	Sweets cost 17p
Each person has £5

A. Kelly wants to buy 21 sweet how much change will she have? £1.43
B. Rory wants to buy 25 sweets how much change will he have? £0.75
C. Katie wants to buy 15 sweets how much change will she have? £2.45
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